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¢ N.B: 1. QuestionNo.1is compulsory
2, Attempt any four from the remaining six que"
3. Figures to the right indicate full marks. .-

)
Q.1 A Whatisantenna? Write any three functions performed hy

B Explain in detail the GSM system architecture? Distingui$ she l : )
Identifiers? :

A Explain packet flow if two mobile nodes.c mmun}cq 08

routes do packets take if reverse tunqefln [s requﬁgdg
B Explain the GSM SMS architecture with cﬂagram“? Descy{b 07
1 08

sequence 1011001 using (2,1*3)‘9 ode[: o
B Whatis Multipfexmg? Cornp re- Im 07
Q.5 A Describe WAP programmmg‘ 1 08
B How dynamlc sour 'qrout ; 07
08
07
¢
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N.B: 1. Qunsnon Nolis compulsary ,-- -
2. Attempt any four from the rnmaim g s qusz tio
3. Use of calculator is allowed.

Qi A
crossover and mutation techniques

B} Censider two given fuzzy sets T
A={1/2+03/4+05/6 +0L,{83“
B={05/2+04/4+01/6+1/8}
Perform unicn, lnterser.tl:;ru,:ci_i*‘\{gzc

10
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] ge i 15
avelling saldsman problem using G CA approach
' Ghv?sTrad\ﬂbna\ Algorithm i
: Exten;:)‘ Te¥e] 'nciple ;
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(3 hours)

T8625 /T0263 DISTRIBUTED COMPUTING AND CLOUD COMPUTING
QP CODE : 516501

Total Marks:80

N.B. L. Question No. 1 is compulsory.
2. Answer any FOUR from the remaining SIX questions.
3. Figures to the right indicate full marks.

£

1 (a). Whatis false sharing? When is it likely to occur? Can it be completely eliminated? Give relative
advantages & disadvantages of using small & large block sizes. ’ (10)

{b). Give a mechanism for consistent ordering of messages in following cases :-
i. One —to — Many Communication
ii. Many — to — One Communication

iii. Many — to — many Communication (10}
2 {a). Discuss Saa$, Paa$ and laas along with their relative benefits and challenges. (8)
{b). Compare and contrast Grid Computing with Cloud Computing. . {7)

3 {a). Differentiate between process and thread concepts. Give suitable examples for each one of the

. following:

.
L
(1%
Ll

A process using multiple threads that are organized in a dispatcher — worker model.
A process using multiple threads in a team model.
A process using multiple threads in a pipelined model. (8}

{b). What is a service? What is Service-oriented Architecture? Discuss different elements of Service-
oriented Architecture. {7)

4 {a). What is Callback RPC Facility? Give an example of an application where this facility may be useful.

(5)

(b). Describe Blocking and Non ~— Blocking types of RPC. Give relative advantages and disadvantages.(5)
{c). What is an Idempotent Operaticn? Give three examples with explanation. (5)

5(a) Explain various data locating strategies used in DSM system that uses Non-replicated migration

blocks {NRMB) strategy. (8)
{b). Explain stateless server and stateful server concepts. Explain advantages of stateless server
paradigm in crash recovery. (7)
6. Differentiate between (ANY THREE) {3*9)
a) Monolithic and Microkernal

b)
c)
d)

Workstation — Server Madel and Processor - Pool Model
Public Cloud and Private Cloud
Full File caching and Block caching Modets for Caching Mechanism,

7. Write Short Notes (ANY THREE) (3 *5)

a)
b)
c)
d)

Multidatagram Messages
Hadoop/MapReduce

Real Time Distributed System
Composing Services for SOA
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N.B.

Q.1

Q.2
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T8625/T0264 ELECTIVE Il CYBER SECURITY

(3 Hours)

(1) Question No. 1 is compulsory
(2)
(3)
)

()
(b) List and explain Intellectual Property\m lie Cyb‘erEp‘”

3

pcct to‘Cyber Sec r1

(@) Explain various key challenges'-wnh nes
(b)
(@)

Explain Phlshmg technique
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T8625/T0265 ELECTIVE I'MULTIMEDIA TECHNOLOG

N.B:

(a) Explain important considerations involved in usmg digit,
{b) Explain the various stages of developing a multlmedl

(a)
(b)

LY

(a) Explam prmcnples of animation and?ts vanoub 'te

(b)

(a)
(b)

{a)

S v

Qg ng sysfer;\gs- and drscdss the advantages of 8
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